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1HER RIFRMHRTEETS B R REH R3.11.26 ~R4.1.24 1,243,000 82 =
2[FK dTESAMMBEYRAETE(ZDT) WL - ROl e R R 2 R S E b K R3.10.14 ~R4.3.11 52.063.000] 92 =
3|+A TIOAFMBYREETE(ZD2) Ao - /NBt - S BRI R ER S A A AR R3.10.14 ~R4.3.11 61.490.000| 92 &
4|+ K FARFE 1 35 hBYBI KRBT E TSR T EE R4.5.26 ~R4.7.19 3.498.000] 83 &
5|+ A Ry 3T HOSBYBKIREET = BEH—Ex R4.5.26 ~R4.7.25 1.144.000| 84 &
BlEAR FIETET /T BBV EET = LIRS 3RS T 2268 R4.5.26 ~R4.7.26 3.938.000] 85 &
7|EA FIHRNLWLRTE BEH—Ex R4.6.1 ~R4.8.3 5.896.000| 86 &
8|+K RUETZ)BIETE Sl Hp3E a5 ) R4.6.1 ~R4.8.23 6.292.000] 82 &
9|+ A BEZ4I23EERESTE AN =54 R4.82 ~R4.9.14 9.548.,000] 85 /&

10|+ K AITEKPEER T HHELS Sl p3E a5 A R4.7.21 ~R49.8 1.056.000f 83 &

n{+x FAASIR BN RTE HEY R ER R R4.5.30 ~R4.9.12 27.225,000] 89 &
12|+ K By EBRMRAEF v B ENEREBETE TEERT EE R4.5.26 ~R4.9.12 1.749.000] 84 =
13|+K FATT 38R BN N R T3 B R REH R4.5.31 ~R4.9.13 23.309.000| 88 &
14|£K GG 26#RE R R T == WE R R4.6.1 ~R49.13 21.318.000] 87 &
16|+K i WEIEGEDS) By 2 25 R R4.6.1 ~R4.9.22 23.232,000| 88 &
16|+ K HAPRABEKRERFT = (B R T KT R4.531 ~R4.10.6 12.936.000] 82 =
17|£K RrE/RERARTE NG LSRR SRR 2R R4.5.26 ~R4.10.3 56.980,000| 89 =
18|+ K HAMM METEA-2TK) HR A B 2R ) R4.6.1 ~R4.10.3 48.312.000] 89 &
19|+K AIEBYBRARBTE T EEHT 26 R4.7.21 ~R4.10.3 1.156,000f 82 &
20|+ A B2TH RO PR ERBARETE (B XL KT R4.7.26 ~R4.10.18 6.732.000] 84 &=
211+ K SIS RERN R TR (R AE) SR B F R4.5.27 ~R4.10.24 51.975,000] 83 &=
22|+ K LXE @METEGERS) HR A B SR ) R4.6.1 ~R4.11.21 29.183.000] 90 &
23|+ K B 1 5B ERE EMERE TR (XS BAZS =54 R4.6.1 ~R4.11.22 26.642,000| 86 &
24|+ K LRI 145 BRI EMEHET =G AE) L g R R R4.6.1 ~R4.11.25 33.088.000] 89 &
25|E£K FREIGMRER KEEBTE HEY R ER R R4.10.56 ~R4.11.28 4.840.000| 87 &
| 26|52 5 RO EEEFHTHECTIX) Afd- HEZ -2 HEERZHIARPERE R3.6.14 ~R4.2.18 1565.650.000f 93 =
| 27| s Ty ERMABE v THOvORETE (Bt HE e R4.7.26 ~R4.11.17 9.317.000] 83 &
WA ES RO EERRETECTIX) HWEBHES R3.5.31 ~R4.2.18 17.908.000] 92 =
29|FX PR R R RO R INER R EEH TS BIHESEE R3.6.2 ~R4.2.28 27,027,000 70 &
K ES RIVR—IR TN BERREEHTTE Epk-A1HEEEHIR P EK R3.9.2 ~R4.2.28 48.840.000] 72 &=
JNER PR TR RIS B AR G SR F T T = jt&iﬁi%-%%ﬂ-%@.{%‘}%?&%lﬁ]ﬁ R3.6.14 ~R4.2.28 217.470.000] 84 &
| solms ;%iﬁ*ﬁﬁﬁ&%ﬁﬁﬁ?bi—ﬁl—%%ﬁ%%ﬂﬁ'ﬁﬁ iﬁtﬁﬁEﬁﬁﬁ'%@ﬁﬁ@ﬂ%@ﬁ R36.14 ~RA310 132650000 87
33|ER ERRATSETEZD] HIH - S B ERR AR A R4.5.26 ~R4.10.3 18.690.000] 86 =
| 34|FER BERBRATSETIEZN2 /IR - A0 ER R 3 BB At R £ B A R4.5.26 ~R4.10.3 17.501.000] 86 =
35|ESR ERRATSETEZN3 HWERESHE R4.5.30 ~R4.10.3 17.787.000] 86 =
| 36|EX AN NEELT R BEIET = HWEEES R4.7.15 ~R4.11.30 5.060.000] 87 &
37E PR NERERERERETE A = AR E R G R3.5.27 ~R4.2.18 76.538,000] 91 &
38|%& R BT E AR ET E (2T X) TSE IR B g e E R 2 R3.5.27 ~R4.2.18 23.485.000] 86 &
| 39|&h5 hfTh AR /v F VTR ZD1 W=ADH R4.4.21 ~R4.6.17 4.268.000| 87 &
| 40| &5 WNEENFUITE ZOD1 db R A R4.4.21 ~R46.17 3.894.000] 87 &
| 41| &5 RIEBYBEBETE db k& B R4.5.26 ~R4.7.25 5.885.,000| 87 &
| 42| &5 B3 THBYSEEHET S 3 E BR R R4.531 ~R4.7.25 6.446.000] 85 &
| 43 |8  |HI0OKBUSERETSE db k& B R4.6.1 ~R4.7.25 7.733,000| 88 &
| 44|85  |REBIIRERBEMEETE ZREE® R4.6.1 ~R4.7.26 7.403.000] 85 &
L 45| &5 BERI2ZBVESHET S =REER R4.6.1 ~R4.8.23 8.074.000] 85 &
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| 46|s%  |FEEASBEYESSETE wEAD R46.1 ~R48.24 8492,000| 85 5
| 47|40 |mSTEAYESHETE = REim R46.1 ~R4.930 21.769.000] 86 s
| 48|sh%  |drEgusEs v F TR 202 EAD R4.9.8 ~R4.10.28 4719000 88 /&
| 40|88 |SENSEE/NVTFUITE 202 e s R49.8 ~R41028 4235000] 89 /A
| 50|4%  |KiEmleERSETEGEHS) = ReEH R49.14 ~R4117 11,880,000 85 &
| 51|s%  |BBSockmEmsERTE e s R49.14 ~R4117 7.084000| 87 &
| 52|gis  |EiEm 1 SERSERETSE = R&EH R48.31 ~R4.118 11,671,000 84 &
| 53|am%e  |FMI3SiRE et T & AD R49.13 ~R411.16 5720,000| 85 5
| 54|g% (S MmAESHETE( 2TK) s gsamm R4.9.28 ~R4.11.21 6.435000| 86 &
| 55|4Es |4SRN TR e s R49.14 ~R411.29 6.160.000| 86 5
| 56|4%  |BRirm/aEngETE EAD R4.9.28 ~R4.11.30 14,850,000 84 &
| 57|gh%  |mEmeEsE/vF S TR Z03 e s R4.1012 ~R4.125 8.030,000| 88 &
| 58|sh%e  |dEMAE/ VT Y TE 04 EAD R4.10.12 ~R4.125 7.711,000| 88 &5
| 59|ghse  |mEmsEsE/\vF S TR Z05 = REim R4.10.12 ~R4.125 7.249.000| 88 5
| 60|sh%e  |dEHmssE/VF Y TE 06 = gEm R4.10.12 ~R4.125 7.304000| 88 &5
| 61|s%  |FUSBUSERETS e s R49.14 ~R412.14 15.235,000] 87 &
62| #E | EBMAEF L IBOVHBTE 11 R4.6.14 ~R4.10.28 18.029.000| 85 &
| 63|50 |BrERHKAEBERETEGHS) /{1 R49.13 ~R412.16 36.971.000] 84 /&
64 |umanm |PIEERKS WAKAARUBIBEFRTE KingTo o =7 i R35.17 ~R41.28|  106.326.000] 90 s
65 |msnne | PIEEE BRABEIEHET RAMSBRETFRTE | domEtut o R368 ~R43.11 38,060,000 78 s
66 |wimnsm §%¢ﬁ%ﬁ1bt”_%ﬁﬁ?%§*DPE##_E%&I KingTo o =7 i R45.12 ~R4.10.28 2640,000| 80 &
67 |ktiHse | P21 TRE K B e T % =R T R3.105 ~R41.17 18,315,000 88 &
68 |kt sy | PiZiE FARKMIES R S R EBRETSE JfEE = E AR R3.10.14 ~R4.2.28 1,056.000] 81 &
69 |kt s |4L6 T B AR EREZO2TE =R T R4518 ~R498 46,508,000 88 s
70 ktitE | SHR RIS 20 IR K EHIE T BT T 20 R47.7 ~R499 3157,000] 82 &
71|kt | R FE 13 BRKEHETE BT T 20 R46.15 ~R4.107 14,960,000 88 &
72|kt s | EHBRI S | SRR ERETSE BT T 20 R4.6.1 ~R4.10.21 50.710,000| 86 5
73|kibEs |46 T B Ak EREZOI TH BT T 20 R45.18 ~R411.28 58.025.000| 90 &
74|kt sy | i ks BRE—RAHREEHIE W= T R45.18 ~R412.1 48,620,000 89 /&
75[% | OEMAERESRETS EES A 77 LM R4512 ~R476 7.835.850| 86 5
| 762% |SMAREREGIETIE BAR A 0) R4512 ~R476 8472.200| 85 &5
7|0+ T [ ERIEHRETEH iEEmTEE R4526 ~R47.14 3102.000| 84 55
78|fRtk  |#EBGERATE LI E 5 T ) R47.7 ~R4.9.30 4,180,000 89 /&
79|f@tk  |SEhFm@kTE L2 H ) R46.29 ~R4.107 28930,000] 93 /4
80 |f#tk Tr ERMAES Yy FHEO Y SBREEETE A RT KEH R4.8.15 ~R4.10.14 1,144,000 86 &
81|fRtk  |BAAEBAKTE EE R4.6.27 ~R4.10.21 13,101,000] 89 &




